Roll No:-
Sem-V Diploma Exam 2023 (Odd)
[Time: 3 Hours] (Electronics & Communication Engineering (38) [Max. Marks: 70]
Electronics Engineering (21) / Instrumentation and
Control Engineering (40)) (Theory)
Microprocessor & Applications (1621501)

- All questions are compulsory. (‘v'ﬂ-ﬁ UH &rﬁa'rq‘% )
_ Marks are mentioned on the right side of each question. (3/ T+ U% & TT8 3iR 3ifhd fHA 3 )

Group (A) (39 -Y)

Q.1  Choose the most suitable answer from the following options. (1*20=20)

aife Sudad faeea &1 gaHe ford)) :-

I. The clock speed of 8085 microprocessor is

(8085 HISHIUIR H HIaIG Tid 8ldT & )

(@) 1 MHz (b) 1 KHz (c) 3.2 KHz (d) 3.2 MHz

ii. In 8085 microprocessors, how many interrupts are maskable?

(8085 HIZH TR H faha §eR¥ U Ed BId /7)

(@) Two (b) Three (c) Four (d) Fi\ye
(AR) CIE)

iii.  Which one of the following microprocessor is not an 8-bit microprocessor?

FafRed AP IR T ¥ $F 8-fdc ASHIURRR a1 87)

(a) 8085 (b) Z-80 (c) 68000 (d) 6502
iv. ALE stands for
(ALE &1 31 § )
(a) Address Latch Enable (b) Address Latch Enter (c) Accumulator Latch Enable  (d) None of these
CSRINERSER) (T$S AT §<) (THRIAR T 5<)) EH A DTS TE)
V. The memory word size in 8085 is .
(8085 H THRY Teg T ATHR BT § )
(a) 6-bits (b) 8-bits (c) 12-hits (d) 16-bits
(6-faie) (8-fe) (12-fere) (16-fer)

vi.  The first machine cycle of an instruction is always

(T 3T DT TUH TR Teh AR RES)

(@) A memory read cycle (b) A fetch cycle (c) An 1/O read cycle (d) A memory write cycle
(Th BURI U3 deh) (Uh B eh) (T 1/0 TS h) (Uh BUR] (ST Tsh)
Vil. IS a 16-bit register of 8085 microprocessor.
( 8085 HATSHIVITIR BT T 16-foe IR B )
(a) Stack pginter (b) Accumulator (c) Register B (d) Register C
UTgeR) (TRITY) RfreR B) RRReR €)
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viii.  USART chip for interfacing with 8085 microprocessor is

(USART f20 Sl 8085 AISHITATR & 1Y IRYF QAT | )
(@) Intel 8251 (b) Intel 8086 (c) 80286 (d) None of these

(A 8251) (321 8086) R CIERE))

iXx.  Which one of the following is not a D/A conversion technique?

(Fafafaa & 9 o9t D/A TRade do-ie 781 87)

(@) Successive Approximation  (b) Weighted Resistor  (c) Dual Slope (d) Single Slope
(ShTHe SHTATIBIN) (HR UicRIYD) (SY3HT Ty) (Thel
X. Subroutines are used in large programs
@S NI § g &1 SuanT fparsare )
(@) To increase the program case (c) To reduce the program extension time
(UTITH &Y &I d6H & o) (I faRdR THG B HH B & (oY)
(b) To reduce the storage (d) For the case of program testing
(TTEH Bl HH B & [AlY) (TTITH U180 = & hY & [old)
Xi. 8085 microprocessor consists of flags.
(8085 HTIH IR H RITEAE )
(a) 3 (b) 4 (€)5 (d) 6
xii.  The number of pins in 8086 P is )
(8085 uP H foF &) Tem 8 )
(a) 20 (b) 30 (c) 40 (d) 60

xiii. ~ Which of the following interrupt has highest priority?

(Frffed $exe # 9 H1F 91 ey sife mufiiedr wad )

(2) TRAP @q) (b) RST 7.5 (c) RST 6.5 (d) INTR
xiv. 8086 microprocessor uses
(8085 HTSHIUITR HTIYANT HAT B |)
(a) 20 address lines (b) 16 data lines (c) Both (a) and (b) (d) None of these
(20 UH <15 (16 STeT ATE) ((3) 3R (&) & EREGEIER)!
xv.  Cache memory is logically positioned _
(P BER dioTep el RTfUd 8 )
(@) Between CPU and main memory. (c) Inside the CPU.
(CPU Ud &7 UARI & &) (CPU & 3<)
(b) Between main memory and secondary memory. (d) Inside the 1/O processor.
= HARY 3R fgcfiae aaRt & &) (1/0 TR & 3<R)
xvi. A microprocessor can understand the instruction written in
(U HIZDHIURIRR SR THY Ihdl & )
(a) Machine language only. (c) High language only.
TR HToT H) (Rt I=1 T )
(b) Mnemonics operation codes only. (d) ‘C’ programming only.
e v ors §) s <> uRnfE
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xvii. Intel 8259 chipis a
(3<d 8259 T U 20

(a) Programmable interrypt controller (c) 1/0 device
(U ayT ) (1/0 gfar)

(b) Programmable peripheral interface (d) Memory chip

SIARTYE)
xviii. Return from a subroutine is affected by a )
@A e gyifad g g )

(@) RET instruction (b) RST instruction (c) JUMP instruction (d) ngdware interrupt signal
(RET 3R gR) (RST 3T gRI) (JUMP 3T GRN)  (STSAIR TP ¥ gR)
XiX. ___ addressing mode is not used in 8085 microprocessor.

( USRI dd1e 8085 HISHIVIRR & agd Tel i1 g | )
(a) Register (b) Immediate (c) Relative (d) Indirect
( G (WTde) (3HTITE)
XX. In 8086 microprocessor memory handling capabilityis .
(8086 HTSHIUETR H AHIRY gl &/Far gl § )
(a) 64 KB (b) 256 KB (c) 1 MB (d) 8 MB
Group (B) (U -sih)
Q.2 Define microprocessor. State it§ important applications.. . 4
(ATSHIVIER B IR $¥| SHP Y0l SUINT B! FdTd))
OR (31YdT)
Explain how memory chips and 1/0 devices are interfaced to a microprocessor. 4
(FATSHITRR & 1Y AARY U 94T 1/0 Gl o 3<%d gkt 82 SIRed $9))
Q.3 Explain the operation of successivg approximation type A/D converter. 4
(0D gAldhed UHR A/D URAdD & e P AR B))
OR (31YdT)
Define an interrupt. State its various types. 4
(FCRY B! GRHTT 3| 39F fafHT JHR &I §a1d))
Q.4 Write a program in assembly language to add two 8-bit numbers. 4
(@ 8-fore G131 ol S & foru sriqelt YT § Te qiurd ford))
OR (31YdT)
Explain the functions of “CALL” instruction in 8085 microprocessor. 4
(8085 ATSHIURITR H “CALL” =1 & &1d & e &v))
Q.5 Explain the direct addressing mode in the context of 8085 microprocessor. 4
(8085 TTSHIIRIR & TgH T Ties T U1 B RS Hhe))
OR (31YdT)
Differentiate between data transfer instructions and arithmetic instructions in the 8085 4
mMICroprocessor.
(8085 HTZHITTR H ST TR AR 3R Simirdia A & dter siar o3))
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Q.6

Q.7

Q.8

Q.9

Q.10

Q.11

State various addressing modes of 8085 microprocessor.

(8085 HTSHINRR & faftrd TgRitT Arst &1 9dr))
OR (31YdI)
State different applications of 8253 Timer.

(8253 TIRHR & [AfHF ST &I §aTy))
Group (C) (YUY - '\‘ﬁ)

Explain the architecture of 8085 microprocessor with neat sketch.

(8085 FTZH IR & SfTchcdaR 1 HRSHT W5 3R GRT PN |)
OR (31YdT)

Draw the pin diagram of 8085 microprocessor and explain the flag signals.

(8085 TTISH TR BT U SR Tl qUT Tl Rl o1 Red )

Draw and explain the timing diagram for 1/0 write operation.
(1/0 TZe ATRIA & o I 3T Wi 3R TR H9)
OR (31YdT)

Explain the mode of operation and addressing modes of Motorola 68000 in brief.

(AT 68000 o HIRIYUNAT IUT UgRAT A1l ot Hféred ome #v))

Explain the need of program counter and status flags in 8085 microprocessor.

(8085 TTSHITRR T YU B3R TUT I FiTll B STIIHdl Dl TRAT H|)
OR (31Ydm)

State and explain the program control instructions of 8085 microprocessor.

(8085 HTISHITIER & YIUTH =07 RN o1 1Y qUT S| SUReAT D))

Draw and explain the functional block diagram of IC 555.

(IC 555 BT HRTHD TUS ARG Wi 3R SHH| RS HY))
OR (31YdI)

Write short notes on the following:-
(i) DMA data transmission
(i) Stack Pointer Register

(Fafoied o dféra femoft forg:-
(i) S1.UA.T 81T T iR
(i) WP WIS o)

Explain the archltecture of intel 8086.
(32 8086 & 3MfHR Pt RS HY))
OR (31Ydm)

Explain the operation of dual slope type A/D converter.
(3 WG YHR A/D GRAdD & AT B SRS Hv))
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